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GCSE Urdu Listening commentaries

Foundation Tier

Question Response Commentary

27 - = JSie A5 4S8 | Accept - despite a minor spelling error.

28 U Sina oy eSS diy £ e iu o | Accept, despite some spelling errors.

29 — WS Hs a0 G-zl e (i A | Reject, because of errors the response makes
no sense.

30 — Dl sl Sl | Accept - the student has managed to identify
one of the two pieces of information correctly.

Higher Tier

Question Response Commentary

23.1 = e S pi-gile S olaila | Accept for one mark out of two.

23.2 = T e Qs o - (S Gl Sl S e | Accept for one mark out of two.

23.3 e i Skl 5 )4 'e‘ﬁwﬁ 6w b A | Accept for one mark out of two. Clarity of

response is affected due to a linguistic error in
a key word.
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GCSE Urdu Reading commentary

Foundation Tier

Question Response Commentary

12.1 um —ax S g ) | Accept for one mark.

12.2 L Ul Sla —wde = (ae Jao 0SS | Accept for one mark.

12.3 = U Jea 8w S ) s | Reject - no mention of key word “classmate”.
Translation

Foundation Question 15

Student’s responses Marks Commentary

| lost 1

my mobile phone 1

So | 0 Omission of therefore.
went to the market to buy new phone. 1

There is a shop which sells cheap phones. 1

| will there 0 Omission of “went”.

| did not like any at the phone 0 Omission of “but”.

Once | save some money 1

| will get a nice phone 0 Omission of “and”, “then”.
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GCSE Urdu Reading commentary
GCSE Reading Higher Tier

Question Response Commentary
10.1 s3b eS| Accept.
10.2 SO siom SRy S usisles sl adai | Accept for one mark. Reason for visit to
-ub =4S uadl Uisa | Lahore is not correct.
However “People are welcomed in Lahore” is
a correct answer.
10.3 b e smclidla _waas S S8l s | Accept for one mark.
10.4 i~ (S Caia S 5€ | Accept for one mark.
10.5 e s S o8 a sl g il 8 < 855, | Accept for one mark.
Translation

Higher Question 11

Student’s responses Marks Commentary

The country | live in is small, however, it is very 0 Key word “city” is missing. "but” missing.
beautiful,

In here there are many interesting things to see 0 “places to visit” incorrectly translated.
Before | did not like going out 1

but now | go out with my friends 0 No translation of “like”.

and visit the elderly 1

in their homes and | like it. 1

In my opinion we should help helpless 1

and needy people 1

therefore in the near future someone will think and 0 Although makes sense but it does not go
care about me. with the text.
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GCSE Urdu Writing commentaries and marks

Foundation Writing Question 1

Responses Marks Commentary
T R KL EN N R PP N X TV TRV JE 2 | Extended answer. Incorrect use of oblique plural
o doesn'’t affect the communication.
U2 8 e SO 2 | Conveys the message without ambiguity.
ey Kk Gk 1 | Incorrect use of verb which causes some ambiguity.
Ub = O e el 2 | Message is conveyed without ambiguity.

Total marks achieved: 5

Foundation Writing Question 2

) o AR S e 08 S ke MU i 459 o S i et g s U SIS o g e asele a3l
ot 09 80 Glap o S Ol 2 e S S04 e ol ) B) (S 9 (dgA G g ) 08 (0 e Uled S0 ML
RS A ST S Y A ) L B il WS R e S

Content

The student has managed to cover all the required information. All four bullet points are communicated without
any ambiguity. The student’s work fits the criteria for the award of full marks.

Marks allocated: 10

Quality of Language

In general the student has used a variety of appropriate vocabulary and grammatical structures with some
difficulty in using the correct gender. A mark of five for quality of language is awarded.

Total marks achieved: 10+5= 15
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Foundation Writing Question 3

L FYEQPIST S LW B EL

5 05 (AT e S Sl i e 12

by 08 3 seaa o J5w 13

S L) A S a2 el O Uy Uy 000 14

LS (uly S )58 ALGIS (e S sl 15

Conveying key messages

The student has not been able to convey the key messages fully and comprehensively in most responses.
Most messages are incomplete and convey partial communication, therefore a mark of two is awarded.

Application of grammatical knowledge of language and structures

There are spelling (< gl A S « g AgSadie a8 8 Jgw)and grammatical errors such as ((os: Wl b o
LS (uliecana 2 e 44) in each sentence. However inaccuracies do not interfere with most messages being
conveyed. A mark of three is appropriate.

Total marks achieved: 2+3=5
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Higher Writing Question 1

R 53 O JsSul = daan o J oS Wyl g (o (il (T (S L Sl g (g b i 9l oy (AS J9Ss | e
0sale il Gaa sl ¢ jlan S g i Ul e Bl ga A gaa s S man g o2 08keS (A8 o dle S
28 A e JsSund o Mo S (oligS o Uila aBiga LS 8 alilia gl S gl £ g2 G ) = Al g2 Sl S S
(R 5000 S (S sl Jgle piga S i 2 58 sy gaa oS Jlor eaom Sl Sl (e g Al

Content

Three out of the four bullet points are covered reasonably well. A lot of information is conveyed and an opinion
is expressed. Task four ¢ =8 (S WS Juw ) s not tackled at all. Apart from a few minor lapses
communication is mostly clear. The work is placed in five-six band and a lower mark of five is appropriate.

Quality of Language

The student has attempted a variety of language as well as various time frames and some complex structures.
500U AL S LSl 9l S aBga IS iy 2 5SThere are a few minor grammatical errors which in general have
no impact on communication. A mark of four can be awarded.

Total marks achieved: 5+4=9
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Higher Writing Question 2

Al el S ) o U b Wl B S 98 O g sl (oS B3 ) (e ) L) = Ol ) e Sl a3ll)

=S 053 55 sl g )l S S 1) Jlad o e &S L O bl g 5 b i e B8 £ e £ 098

S8 (g o S ) O3 (S 0 gis (OIS (S 0958 AS L (i (S (S andd LA 0aly ) Sy e BV £ e

o OIS S Be el o gl o I Gy S S8l 4aS A S ol (65 Ui LS (58180 (e B0

Ry U8) o e 5 S e B £ b Al g Gl alSdia S ) ) By Ul G Ut ) e o S A

S JSdia Uile SS9l = (Al 20 eSS 058 g o S G 88 G o Skl o ) Sl 2 b

Ou) e &) ) S S 33a (5 e 09 ASE (il Jilewa ) () 9 098 by e gl g el pS e AS U il e Uil

) m e 8 8 i e e S i Gganaa e (S 085l S (S EA 0 o S dsme 9 T S B il ad )
RS EA A S S8 P S osilgpm (S e e Ble gl <

Content

A very good response. A lot of of information is conveyed with only occasional ambiguity. Opinions are
expressed and well justified in a variety of ways. However, in response to the first task the student has given
the full details of facilitiess & 5 (1S2 (S and (alise c2xue in her area but mentions little about how to make them
better. A mark of ten is awarded.

Range of language

A good variety of appropriate vocabulary and structures are used e.g. ) usd! Ul UsS Qb —w sl g Jud S
w3t Jilus The student has attempted more complex structures = = S 30 5728 (S Ble il a8 ) o e 58
usS zoaand link words confidently. The style and register are appropriate.

A mark of nine is awarded at the top of level three.

Accuracy

Verb and tense formations are correct. There are few minor errors and these occur in attempts at more
complex structures. Five marks are awarded.

Total marks achieved: 10+9+5= 24
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Higher Writing Question 3

oo US 3 Gl e (S s G b S IS 2l e S S B S as Wl sl OS e (R leS JU 8 s
apells B La) (L 2 @) pal coa i Ghs = el Ul by (b e 2 U S eaS G Gl ol o ope iy S
S s e e

Conveying key message

Most key messages are conveyed with some clarity €.g. o & 5 = LS 428 G 58 A S )5 a8 1S Also a
number of English words such as o s e)éc@-,\bmsi‘l» are not translated. A mark of four is awarded.

Application of grammatical knowledge of language and structures

The student demonstrates a reasonable knowledge of vocabulary and structures and the piece is more
accurate than inaccurate. A mark of three is awarded.

Total marks achieved: 4+3=7
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GCSE Urdu Speaking test commentaries
Foundation Role-play 3

Task Commentary Marks
1 The message is communicated clearly. 2
2 The school opening time is given in English. 1
3 Despite minor grammatical errors the message is conveyed. 2
4 A simple opinion is expressed and explained. 2
5 The candidate formulates an appropriate question. 2

Knowledge and use of language

Most tasks except task two are accomplished. The student has demonstrated good knowledge and use of
language and is awarded four marks.

Communication Knowledge and use of language Marks

9 4 13

Higher role-play 11

Task Commentary Marks
1 The student explained her future plans. 2
2 The message is communicated without ambiguity and the student gives a 2

reason for her future ambition.

3 This unpredictable task is tackled very well. 2

4 The message is communicated without any ambiguity. 2

5 The way the question is formulated caused some comprehension problems. 1

13
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Knowledge and use of language
The student demonstrates good knowledge and use of language with only a few minor grammatical errors.

Communication Knowledge and use of language Marks

9 4 13

Foundation Photo card F

In general most responses are relevant and the student has replied to all questions with reasonable clarity. In
response to question two the student has replied ‘ = Ul s34 (xa glad oy — L5 (e 3 = &l sawhich
does not meet the required standard. However, most answers are brief but there is evidence of development
in most cases. An opinion is expressed although not explained properly.

A mark of eleven is appropriate.

Higher Photo card G

The student has given an assured performance producing accurate and detailed responses throughout the
test. She has replied to all questions confidently and attempted to develop most tasks beyond the minimum
requirements. Opinions are expressed and explained skilfully.

A mark of fourteen can be awarded.
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Foundation General conversation

Communication

The student has responded to most of questions well and extended most of her answers. There is an
occasional lack of clarity due to grammatical inaccuracies or a lack of vocabulary required to complete the
response. The student has not met the requirement to ask a question of the teacher. The overall performance
does not demonstrate the features of the top band therefore a mark of eight is appropriate.

Range and accuracy of language

The student has attempted successfully to use simple structures and connectives in some cases and has
limited success in making reference to the future tense. A mark of seven is awarded.

Pronunciation and intonation

Pronunciation is generally good although there are some issues with intonation. The definition of Level 4
states ‘Pronunciation generally understandable with some intonation’ this is a fair description of the overall
performance and a mark of four is awarded.

Spontaneity and fluency

There is no evidence of pre-learnt material. Apart from occasional hesitation the flow of speech is good. A
mark of four is awarded.

Communication Range and Accuracy | Pronunciation and Spontaneity and Total Marks
Intonation Fluency

8 7 4 4 23
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Higher General conversation

Communication

The student consistently develops responses in extended sequences of speech. She manages to convey all
the information confidently and narrates events coherently. The requirement of the student to ask a question is
not met. The overall performance has clear features of top the band and a mark of nine is justified.

Range and accuracy of language

The student has used excellent language with a wide variety of linguistic structures and a wide range of
complex vocabulary. Reference to past, future and present events are made confidently. Some minor errors
are occurred especially in the use of complex structures without impeding communication. A mark of nine is
appropriate.

Pronunciation and intonation

Strong evidence of consistently good pronunciation and intonation throughout the conversation. A mark of five
is awarded.

Spontaneity and fluency

There is a natural exchange between the teacher examiner and the student at a moderate speed. There is no
evidence of pre-learnt responses and a mark of five is appropriate.

Communication Range and Accuracy | Pronunciation and Spontaneity and Total Marks
Intonation Fluency
9 9 5 5 28
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